
 

 (A-43) P. T. O.  

Roll No. ...................................  

D–3189 

 B. A. (Part II) EXAMINATION, 2020 

ECONOMICS 

Paper  First 

(Macro Economics) 

Time : Three Hours ]  [ Maximum Marks : 75 

uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 
vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 
Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 
(UNIT—1) 

1- ^lkekftd ys[kkadu* ls vki D;k le>rs gSa \ bldh jpuk fdl 
izdkj dh tkrh gS \ 
What do you understand by ‘Social Accounting’ ? How is it 
prepared ? 

vFkok 
(Or) 

^^iwfrZ viuh ek¡x Lo;a mRiUu djrh gSA** bl dFku dk vkykspukRed 
ijh{k.k dhft,A 
“Supply creates its own demand.” Critically examine this 
statement. 
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bdkbZ&2 
(UNIT—2) 

2- vkSlr miHkksx izof̀Ùk rFkk lhekUr miHkksx izof̀Ùk esa vUrj Li”V 
dhft, vkSj lhekar miHkksx izof̀Ùk dk vk; ls lEcU/k le>kb;sA 
Clearly distinguish between Average Propensity to Consume 
and Marginal Propensity to Consume and explain the 
relationship between Marginal Propensity to Consume and 
Income. 

vFkok 
(Or) 

fuos’k dh lhekUr {kerk D;k gS \ ;g iw¡th dh lhekar {kerk ls fdl 
izdkj fHkUu gS \ 
What is Marginal Efficiency of Investment (MEI) ? How 
does  it differ from Marginal Efficiency of Capital (MEC) ? 

bdkbZ&3 
(UNIT—3) 

3- xq.kd rFkk Rojd dh ijLij fØ;k ij vk/kkfjr lSE;qvYlu ds O;kikj 
pØ ekWMy dh foospuk dhft,A 
Discuss Samuelson’s model of business cycles based on 
Multiplier-Accelerator interaction. 

vFkok 
(Or) 

O;kikj pØ dks fu;fU=r djus ds izR;{k rFkk vizR;{k mik;ksa dk 
mYys[k dhft,A 
Give an account of the direct and indirect methods to control 
trade cycles. 

bdkbZ&4 
(UNIT—4) 

4- gSD’kpj&vksgfyu ds fl)kUr dh vkykspukRed O;k[;k dhft,A 

Critically explain the Heckscher-Ohlin’s theory. 
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vFkok 
(Or) 

^^fdlh ns’k dk Hkqxrku larqyu lnSo larqfyr jgrk gSA** ;fn ,slk gS 
rks Hkqxrku larqyu esa vlkE;rk dk D;k vFkZ gS \ 

“The Balance of Payments of a country is always in 
Balance.” What then is the precise meaning of 
disequilibrium in Balance of Payments ? 

bdkbZ&5 
(UNIT—5) 

5- varjkZ”Vªh; eqæk dks”k ds mn~ns’;ksa ,oa dk;ks± dh O;k[;k dhft,A 

Explain the objectives and functions of International 
Monetary Fund. 

vFkok 
(Or) 

cgqjk”Vªh; fuxeksa ls vki D;k le>rs gSa \ Hkkjr ds vkfFkZd fodkl esa 
budh Hkwfedk dk ijh{k.k dhft,A 

What do you mean by Multinational Corporations ? Examine 
its role in India’s economic development. 
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